wamil} [PD/GeV]
[EEN
o

G‘—O‘IIU
cdot m
™9

t,1

d* {p

d

|
o
®

107°

[EEY

Ratio to ATLAS

0.5

13000 GeV pp tt
| i I i I i I i I i | i I i I I | m
B top e
P_" (ATLAS ttbar) 2
- T |
_ X<
— —40
— —Ho
- —
— A
B o
- —
—
L ™
n >
= Ek
i =
— —™
Y.
™
©
— — o
— m
- —{
— 1.2
[ = ATLAS 1%
— --4-- Herwig 7.2.1 default 1=
— —— Pythia:8.308 default — 2
i Sherpg 2.2.5.default.... 3
- Bk
- —
- 1O
H . . . ] . . . H =
:l T T T T | T T T |:
— 2
1
- ; —
— [H----mmmmmmmmmmmm e —0.5
| | . |
0 500 1000



	Contents
	Page 1


